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Exercise: What if we change the LHS to m2?
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Exercise: What if we change the LHS to s:?
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Exercise: What if we change the LHS to m2?
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Model vs. Path Satisfaction: Exercises (2.2)
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Exercise: What if we change the LHS to s.?
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Exercise: What if we change the LHS to m2?
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Exercise: What if we change the LHS to s.?
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Exercise: What if we change the LHS to m2?




Slide 39
Model vs. Path Satisfaction: Exercises (4.2)

s= ¢ < all wstarting at s, M= ¢

' & ss=F T Tue

Nss#F L Wl
NsEFA(pAr) e
9|/86|=FI"TM&
Ss=F(qAar) e

S1 > S92

q, r r

Exercise: What if we change the LHS to s:?
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Exercise: What if we change the LHS to s:?
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Exercise: What if we change the LHS to s.? S fes-
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Exercise: What if we change the LHS to s:?
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Exercise: What if we change the LHS to s:?




